
 

 

 

     T   U 
     1   4 
-         3 
     1   1 

14 - 3 = 11 
 
11 is 1 TEN and 1 UNITS, so we put 1 in the TENS 
column and 1 in the UNITS column. 

     T   U 
     2   4  
-         7 
      
       

4 is less than 7, so how can you do 4-7? 
 
Make the 4 larger by ‘borrowing’ a TEN. Reduce the 2 
TENS by 1 and increase the 4 UNITS by 10.  
 
 

 
 

14 – 7 = 7 
 

Write 7 in the UNITS column and then 
do the rest of the sum as normal.  
 

24 – 7 = 17 

     T   U 
     1   14 
     2   4  
-         7 
     1   7 
       

(Cross out the 2 and the 4 and write the new numbers on 
top so you don’t get confused) 


